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B Add scale rule

Display the number of | want to display the graph

people graph in a good way of the number of people
in a good way

PO
Change the e
scale based The scale of the vertical axis
on.the changes with a good way based on é;;i
max | mum the maximum value
value 7 \
\

| don't understand
what "good way" is.
So, I'll ask you a lot of

QA questions.




B Case of 1000 people
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B Case of 1000 people
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B Case of 1500 people
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B Case of 1500 people
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B Add rule that not to exceed scale
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B Add rule that not to exceed scale
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